OLEmfe---EF/ N EHERTES . IR ET -
BT H, BIRREESMEAR

AsEveds (7)
—. W, @20, H267)
1. 10.090 {418 J5 A& ( ); AECEEHRN, 812 505 L
IR )
2. 129608000000 X5 R AL A B BB ( M, PREE 1L
IR ( )L
C AN REIE 100 552 0.3, XANEGRC )y AN

w

@Jﬁﬂ@lio)ﬁ% 50, EABE( ).

4. H 4. 9. 6. 8 A KF RKIIPAALINEUE( ), R N = AL
IINERLTR( )o

5. 9.996 fr BE BEHUE( ), PO TN B4 707 =2 ( ), i
BaE] 0.01 /2&( )o

6. —/MN=A/NEIUE TG R AEUR 7.0, XA =AU/ 2
( )s BRI )

T RS CHRES, BRI O) (2 4y, 3R 6 41)

1. BEKT 5.6 XINT 5.8 FI—hi/MIR A 5.7, ( )

2. 1€ 6.992 A1 6.95 ¥ 2+ L #R 2 7.0 C )

3. 100 A%k AR R JE FE R 38 cm, “TFIEAZ ] AJE 0.038

dmo

2
% L

1SRE T, BAEESRESE



OS8R ERNFENERSES  hg

e TE, BIREREESMERIR

=, k. GEEAERNF TIHRERS T B)(EE 2 70, L6 7))

1. #8845/ NE'E ) 110, A R BNFEHU 100 1%, 45 552 Sk A
A. 10 B. 100 C. 1000

2. R/ NIRRT, NECREBRICO"BER X2 ().
A. fE B. A gE
C. Tikffie

3. 1 e AR AT AR 0.1302 Bkoo, ABA( )se NERMAT LA 130.2
KK TG
A. 100 B. 1000 C. 10000

. FERRER. (3L 16 77)

1. A%, (B2 455, £10%5)
3.15+10=
50.63+10x100=
0.08x100x10=
8.02x1000+100=
0.6+100x1000=

2. . (B2, 6
0.365 —_x 1,
( )

3650 -———)T—f———36.5
/

3.65
\
0.00365

4 1 — -
oy 0%, Fih, B, BRI

SIS (T, AEEESEAE



L . T . [=] i ]
OERR--- S NHEHERS RS i
xbialey

ST, DTREESREAE L

Eipsee:

Foo BN, RS, (91+9+9+9+10=46 77)

1. EFRIEE) 2 b, WARZEB ST $EERF 100 KB H A
WH, BEuh:

A PRETBK 100 K45 5

B IS 10.68 >k 16.01 ¥
7KK 10.60 K 15.99 %
(DUYERS BRI ?
(2)HEHI AP ?

2. NIEEEIGE 25 m, AR EZ D TOK?

3. MEFHZ M HAR, BEFEDY 10 T FLI 1 F sl 2 HEK 7.85 kg Y %
Wk, AL 1000 TR A, HRE DT 50 i — A Aemk ?

SRS s, T8 B, BRI
3 IS TH, DUREESHEAR



OSRG-S FBHERSHES i
ST, AEREESRERR

4. FAYG/NF v A i — N A S R 3k, B AT K JE 500 dm, 5 42 300 dm.

XA S BRI b ) T A % /D

/

K

5. WL ZMEUIRIE 1562, SEH B/ NS R A2 RS B — AL A 2 4
B X Har ez

VS s, b, EE, IR TR
ST, BAREESHESE



OSmK--- S HEHERSHS g
1T, BAREESHRRE

B8R
—. 1. 10.09 12.00
2. 96.08 96.1
3. 0.003 500 [mLFRIERE T3 m) Rk
4. 98.64 4.689
5. 10 10.0 10.00
6. 6.950 7.049
—. 1.V 2.4 3.+
=.1.A 2.B 3. B
9. 1. 0315 506.3 80 802 6
2. +100 =10 x10000
Fiv 1. (1)10.68>10.60
% B AN ER IR
(2)15.99<16.01
% oK ARHIER
2. 25%60=1500(m)=1.5(km)
% MhAE/NEE 1.5 km.
3. 7.85+10x1000="785(kg)
Z: AFETR 1000 T LT H R, 23 HE 785 kg ) 28 ALK .
4. 500 dm=50m 300 dm=30m
50x30=1500 (m?)=0.15(2 i)

e RASLERIEH A TR 0.15 AW

4 1 — -
oy 0%, Fih, B, BRI

S T, BEEESEAE



ORI SN HEERSES iy
ST, AEREESRERR

5. LH: 1562+(10+1)=142
L 142x10=1420
% FHUE 1420, ZHUE 142,
[RARE U/ INBUR 17 A8 3 — AL S 2 288, SR 4
& LH 10 £, FEHAI(10+ )R 25

i - 8
BES e, o, B, ERTHID

SRS T, EEES AR



